
Spiel 1 Spiel 2 Gesamt

Spiel 113 15:15 J 1 GÜNTHER Reinhard 59 + 39 = 98

J 2 FRÖSCHL Max 58 + 58 = 116 O # O

Spiel 115 15:37 J 3 HIESL Christoph 53 + 45 = 98 O

J 4 SEIBERT Günter 55 + 66 = 121 O

Spiel 117 15:56 J 5 ÖLLERMEIER Fritz 61 + 61 = 122 O

J 1 GÜNTHER Reinhard 51 + 60 = 111

Spiel 119 16:12 J 2 FRÖSCHL Max 54 + 61 = 115 # O

J 3 HIESL Christoph 55 + 38 = 93

Spiel 121 16:26 J 4 SEIBERT Günter 54 + 50 = 104 # # #

J 5 ÖLLERMEIER Fritz 53 + 57 = 110 #

Spiel 123 16:43 J 1 GÜNTHER Reinhard 50 + 62 = 112 O #

J 3 HIESL Christoph 49 + 57 = 106 O

Spiel 125 16:58 J 2 FRÖSCHL Max 60 + 55 = 115 # O

J 4 SEIBERT Günter 54 + 62 = 116 #

Spiel 127 17:15 J 3 HIESL Christoph 56 + 58 = 114 O #

J 5 ÖLLERMEIER Fritz 52 + 62 = 114 O # O

Spiel 129 17:31 J 4 SEIBERT Günter 60 + 52 = 112 O

J 1 GÜNTHER Reinhard 62 + 59 = 121

Spiel 131 17:49 J 5 ÖLLERMEIER Fritz 59 + 61 = 120 O O

J 2 FRÖSCHL Max 55 + 55 = 110 #


